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	Part-A
	

	Q No
	Section-I
	Marks

	1
	Find the valid identifier(s) from the following

(i) Delhi    (ii) Mumbai   
	1

	2
	[9, 12, 15, 71, 101]
	1

	3
	(ii)  rw
	1

	4
	(iii) or     
	1

	5
	(29, 12, 45, 74, 29, 12, 45, 74, 29, 12, 45, 74)
	1

	6
	dict_keys(['Ram', 'Laxman'])
	1

	7
	D= {1:’East’,2:’West’,3:’North’,4:’South’}
	1

	8
	NO
	1

	9
	abs()
	1

	10
	HTTP
	1

	11
	Bank Fraud
	1

	12
	Desc/ Describe
	1

	13
	View
	1

	14
	Having
	1

	15
	What is the use of Bridge in the network?

(i) To connect LANs 
	1

	16
	True
	1

	17
	<class 'tuple'> 

(20, 24, 28)
	1

	18
	Ascending 
	1

	19
	Advanced Research Project Agency Network
	1

	20
	(i) DDL
	1

	21
	(iv) Wi-Fi
	1

	
	Section-II
	

	22
	1. GCode

2. Degree = 4 Cardinality =5
3. Select max(PrizeMoney) from Games;
4. Update games set PrizeMoney= PrizeMoney+1000;
5. Select sum(Players) from Games;
	1

1

1

1

1

	23
	1. Line 1 : csv 

2. Line 2 : a 

3. Line 3 : reader 

4. Line 4 : close()

5. Line 5 : 

suresh  kv@sur 

gopal  kv@gop

mohar  kv@moh
	1

1

1

1

1

	
	Part–B
	

	
	Section-I
	

	24
	-5.0

True
	2

	25
	A network is an interconnection of several nodes through some communication media with the goal of sharing data, files and resources. 

(a) Local Area Network (LAN) 

(b) Metropolitan Area Network (MAN) 

(c) Wide Area Network (WAN)

(d) Personal Area Network(PAN)
OR

FTP is a protocol to transfer files over the internet. HTTP is a protocol which allows the use of HTML to browse web pages in the World Wide Web.
	2

	26
	IMAP: Internet Mail Access Protocol

GSM–Global System for Mobile communication

PSTN-public switched telephone network 

VoIP-Voice over Internet Protocol.
	2

	27
	The list of identifiers used in a function call is called actual parameter(s) whereas the list of parameters used in the function definition is called formal parameter(s). 

Actual parameter may be value / variable or expression. 

Formal parameter is an identifier. 

Example: 

def area(side): # line 1 

    return side*side; 

print(area(5)) # line 2 

In line 1, side is the formal parameter and in line 2, while invoking area() function, the value 5 is the actual parameter. 
A formal parameter, i.e. a parameter, is in the function definition. An actual parameter, i.e. an argument, is in a function call. 

OR

The program part(s) in which a particular piece of code or data value can be accessed is known as variable scope. In python broadly scopes can either be global scope or local scope.


	2

	28
	S=’Python program’









     L=len(S)

     for i in range(L):

             if i%2==0:
                   print(S[i])

              else: 
                   print(i)
	2

	29
	(i) 75#15#
(ii) 75#


Maximum T= 3             Minimum T = 0
	2

	30
	WHERE clause is used to select particular rows that satisfy a condition whereas HAVING clause is used in connection with the aggregate function, GROUP BY clause. 

For example, select * from Student where Marks>75; 

This statement shall display the records for all the students who have scored more than 75 marks. 

On the contrary, the statement—select * from Student group by stream having Marks>75; shall display the records of all the students grouped together on the basis of stream but only for those students who have scored marks more than 75.
	2

	31
	Field: A field is the smallest unit of a table which is also known as a column. Columns are called attributes in a table. For example, Employee Name, Employee ID, etc. 

Record: A record is a collection of values/fields of a specific entity. For example, record of an employee that consists of Employee name, Salary, etc.
	2

	32
	If you do not want a column to have a NULL value, then you need to define such a constraint on this column specifying that NULL is now not allowed for that column.
	2

	33
	31.0

4731.0
	2

	
	Section- II
	

	34
	def Reverse(X):

    for i in range(len(X)-1,-1,-1):

        print(X[i]*2)

Note : Using of any correct code giving the same result is also accepted. 


	3

	35
	def display():

file=open(‘MATCH.txt’,‘r’)

line=file.readline()

while line:

    if line[0]==’P’:

        print(line)

        line=file.readline()

file.close()

  OR

f = open('Lines.txt', 'r') 

str = f.read() 

size = len(str) 

print('size of file n bytes ', size) 

f.seek(0) 

L = f.readlines() 

word = L.split() 

print('Number of lines ', len(L)) 

print('Number of words ', len(word)) 

f.close()
Note : Using of any correct code giving the same result is also accepted.
	3

	36
	i) 2      101











2    103

ii)    101

                      104

                      105

                      103

iii)    101   Bhim                  Volvo Bus

                      104   Abhimanyu        Ordinary Bus

                      105    Subhadra           SUV

                      103    Sudama             CAR
	3

	37
	def PUSH(Arr): 

    s=[] 

    for x in range(0,len(Arr)): 

        if Arr[x]%2!=0: 

            s.append(Arr[x]) 

    if len(s)==0: 

         print("Empty Stack")

    else: 

        top=len(s)-1

        for i in range(top,-1,-1):

            print(s[i])

 OR 
def POP(st) : 

# If stack is empty 

    if len(st)==0: 

        print("Underflow") 

    else: 

        val= stk.pop()

         print('deleted number',val) 


	3

	
	Section- III
	

	38
	: i) Block A – Maximum no.of computers.

ii)

iii)It is necessary to place switches in all the buildings as the number of computers to be connected with each other

iv)repeater between A and C Block

v) Radiowaves 
	5

	39
	(i) select * from PRODUCTS order by PNAME;  

(ii) select PNAME, PRICE from PRODUCTS where PRICE>=10000 and PRICE<=15000; 

(iii) select PRICE, PNAME, QTY from PRODUCTS where QTY>100; 

(iv) select SNAME from SUPPLIERS where CITY=”DELHI” or CITY=”CHENNAI”; 

(v) select max(PRICE), min(PRICE) from PRODUCTS;


	5

	40
	import pickle 

def countsal(): 

f = open (“emp.dat”, “rb”) 

n = 0 

try: 

      while True: 

      rec = pickle.load(f) 

            if rec[2] > 20000: 

                print(rec[0], rec[1], rec[2], sep=”\t”) 

                 num = num + 1 

except: 

f.close() 

OR

import pickle 

def add_record(): 

fobj = open(“Stu.dat”,”ab”) 

rollno =int(input(“Roll no:”)) 

name = int(input(“Name:”)) 

marks = int(input(“Marks:”)) 

data = [rollno, name, marks] 

pickle.dump(data,fobj) 

fobj.close() 

def Search_record(): 

f = open(“Stu.dat”, “rb”)

stu_rec = pickle.load(f) 

found = 0 

rno = int(input(“Enter the roll number to search:”)) 

try: 

for R in stu_rec: 

if R[0] == rno: 

print (“Successful Search:, R[1], “Found!”) 

found = 1 

break 

except: 

if found == 0: 

print (“Sorry, record not found:”) 

f.close() 

(Using of any correct code giving the same result is also accepted) 
	5
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